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Section A 3 (30 x 2 marks)

Fdr each question from 1 to 30, four options are given. One of them is the correct .
answer. Make your chgice (1, 2, 3 or 4). Shade the correct oval {1 2, 3 or 4) on the _
Optlcal Answer Sheet prowded .

1. Whichone of the following statements is correct?

.(1 ) Thebeetle has a 3-stage life cycle.
(2)  The mosquito has a similar life cycle as a cockroach.
(3)  The young of a cockroach moults several times as they grow.

(4)  Theyoung of a grasshopper changes into a pupa before becoming an adult.

2. Which oneof the foiiowing diagrams shows the-coerréct life cycle of a butterfly?




Which of the following statements are  true about anlmals‘?

A Allanimals go through a 3-stage life cycle.

B Some animals do not take care of their young.

C  Some animals have youngthat look different from their parents
D All- animals can reproduce-and hqve young while they are alive. -

(1) AandBonly -
(2) CandDonly
(3) A, BandConly
(4 B,CandD only

Michael did a study on the life cycle of three animals, X, Y and Z. He drew a

- checklist and placed a fick ( v/ ) in the box if the characteristic is observed.

Observation . [Animal X | Animal Y | Animal Z |
1 If1ays eggs in water. - - Ve [ V4
_ | There are 3 stages in the life cycle ' ' v
| It has wmgs ' ' o v v
The young moult several times as they grow. N V4

Which one of the foﬂowmg shows the animals with the correct charactenstlcs

descnbed in the table above‘?

Animal' X ' Animal Y Animal Z

' (1), rrrosquito | . . frog . ,. ' houseﬂy
2 | frog ~dragonfly ~ | beetle _

| ‘(3)' 1 houseﬁy "~ beolle " grasshopper
(4) ) | frog | buttesfly . ] ..mosquito_-'



Study the flow chart below carefully.

Animals

|

Yes

] Lives on
land?

Breathes®
through’

gills?

l Yes

guppy

|

Which one of the following bes’t represents animals A, B and C?

A B c -
T} grasshdpper_ qonkey | “swordtail’
| 2. |. ~ | frog platoypus goldfish
+(3) |- - platypus tiger _ frag
(4) . ‘butterfly deer "~ shark




The diagrams below shoW the life cycle of a mosquito and a chicken.

(wriggler)

Which one of the following statements-describes the two life cycles incorrectly?

(1)
@
RE)
4)

The chick can r.eproduceh-but‘-the larva cannot.’

The larva {urhs into a pupa before becoming an adult mosquito.

The chick resembles its parent but the farva does not resembile its parent. | .

The mosquito has a 4-stage life cycle but the chicken has a 3-stage life cycle.

-——

Some rﬁate_zrials are classified as shown in.the table below. Which pair 13 incorrect? _

. an—magpetic : -Mat;:yneti'c
K Cay - " Steel
'_ 2) Ceramic - lron
(3) _ Aluminium Coppér
(4) Bron.ie . Steel .




8. Which of the following are not uses of magnets?

A To separate diamond from gold
'B.  Tobe used in a camera to take photograph
c To be used in a compass to show direCtio'ﬁs'
D To keep the doors of refrigerator tighﬂy closed

(1) AandBonly
(2) CandDonly
(3) A BandConly
(4) B, CandD only

g Whibh of the following actions will cause a.'magn‘e't to lose its magrietism?
A Heating it repeatediy over a flame.-
B Dropping it many'times on the floor
C Hitting it many times with a hammer
D  Usingit many times to pick up magnetic objects

1. A andt-l?;-‘_oni'y

) CandDonly
.(3). .A;BandConly

4y B,CandDonly.
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:10.  in which one of the following set-ups will the rod become an electromagnet?

(1) battery 2) battery

—__H ]3':

CLO Ty

iron rod

CLLCE D~

copper rod

(3) : battery - (4) battery

zinc rod

aluminium rod P

4. Alex sprinides Seitie,iron filings around a bar miaghet. Which. one of the following

diagl_‘_amé cor_'reétly ‘;s-h’cjws. the pattern of the iroﬁ.ﬁli_‘ﬁﬁé;_ around the tna’gjr‘ié't‘?




Jolene suspended 4 magnets as shown in the diagrem below.

I| | |\ H/I B

A B C : D

- Which of the following are defi mtelg magnets‘?

1 B only

(2) BandConly ‘

3 CandDonly S |
(4) A, BandConly o

. Indiagram 1 belew, magnet P is-hdng-fiom a spring with magnet Q placed under it.
Diagram 2 shows the length-of the spring after magnet Q is removed.-

diagram 1 - diagram 2

spring

magnet P

magnet Q

Which one of the followmg statements explains the change. in the-length of the
'spnng as shown in dlagram 27

(1) - The spring has:toosened.
2) . Magnet P has become heavier.
-(3) - Magnet P has become stronger in strength

‘(4)' _ Magnet Q no longer éxerts a force to repel Magnet P..




-14.  Three bar magnets are placed next to one another. Which of the following

arrangements are possible?

N
| s] : _
w . ® © o
(1) AandConly _ o |
(2) Brand.D only o .
(3) A, BandConly - : . _ |
(4) - B, CandDonly

15..  Sally made ai electromagnet using an iron nal, a battery and some wires as shown
" below. ' 7

5— iron nail
battery - g¥
: 1
: : P
17 G— 1

. What can Satly do to increase the strength of her electromagnet’?

A Increase the length-of the wire used

B Increase the number of batteries used

C. Increase the thickness of the wire used .

D - !ﬁc,_r:ease the r_;ur_n_bér of tum_s_bf Wiré around the iron nail i

(1) AandGonly
(2) . BandD only
{3)  A,Band.Donly

(4 A.B,CandD .




16.  In diagram 1 shown below, an iron nail is made into a tempb'rary magnet using the
stroking method. The magnetised nail is then placed next to a compass’X as shown

in diagram 2.

RN
(l:ompa'ssX
:.dia'gra'm1 | : diégram 2'-

Which one of the following compasses corréctly_- rep‘,résenfs compass X in the above -

set-up?
(1) @
@ @

17. © The amount of m::itter~ in an object is called its -
- (1) - mass .
(@) weight

@) voi_ur'ne_i': '

(4)  substance




18: - Which of the following ifems can be classified as matter?

A Oil

B Sail -

C . Shadow
D Sunlight

(1)  AandB only ) I

(2) BandDonly '
(8 A, CandDonly -

4 A B,CandD

“19. ~ Siti compared the mass of three balls, S, T_énd U, by using a simple balance. The

results as shown in the diagrams below.

U

Which one of the f_ollowin_g érrangéments shows the mass of the three balls'in -

descending order?

) T,S,U
2 SUT
(3 T.U,S
“ U T:S



20, Inan expeﬁnie.nt, Jason filled a container with water till its spout as shown in the
Figure 1. Next, when he lowered a stone irito the container; some water overflowed

ihto ‘a beaker as shown in Figure 2.

-container - , string

\. R spout | |
'\( beaker CEmrr \
% :

water
water

stone T S G
figure 1 _ fiqure 2

, What_does the water collected in the beaker Eepfesent—?
T(1) - Mass of the stone ’ -
(2). -Volume of the stone
. (3)  Total volume of all the water

(4) °~ Mass and:volume of the stone

21, Wh{ch of the- fol!owmg palrs of substances are simitar in state? .
' (1) ° lceand water
{2) .Rice and soup
(3). ‘Sugarand salt
{4). - Book and coffée

.22, Which one of the fo!lowmg groups of matters has a definite volume but no def nite
_shape? |

(1) . Key chain and smoke

2 - Cookihg 0"fl andirain weter

(3) 'Orange jU|ce and alarm clock

(4) _Sea water and carbon ledee




23'. 

In an experiment, Mei Lin poured some substance Y into a rectangular container.
She then pIaced'the container in different positions as shown below and observed

the behaviour of substance Y.

container " substanceY

position 1 position2 position.3

At the end of the experiment, she wrote down four statements describing her

obsenfations.
A Substance Y takes up space.
B Substance Y can be compressed. _
) G Substance Y does not have a definite mass.
D Substance Y does not have a definite shape. ,

Which of her statements isfare not based on her observations? -
(1)  Aonly '

{2) Conly

(3)° AandD only

(4) - Band Conly

The table below shows the propertiés of some matters. Which one of the matters is

correctly described?

Nitrogen ]

Plasticine - No Yes Yes . |  Yes
Fruit juice . No . ‘Yes .| XYes - No
Cottonwool |- No . _No: .- Yes " Yes

13



- 25 Agnhes observed a matter that went 'through some'chang.es: in state and wrote down
the property of the matter at each stage. '

@Sfage 1 : Definite volume but no definite shape.
iStage 2 : No definite volume or shape. |

fStage 3 : Definite volume but no definite shape..
Stage 4 : Definite volume and shape. '

Wthh one of the following shows the changes of state correctly?
| (1‘) [ce > water > ice -> water vapour '
"2 Water> water vapour > water > ice

(3)  Water > ice >-water > water vapour

(4) . Water vapour > water > water vapour - ice

26 . Guo Qiang used a light sensor and a data Iogger fo fi nd out how much light passes

through four sheets A, B, C and D, each-made of a d:fferent materal. He plotted the_
results in the graph shown below

- Amount
of light

' : » Materials
A B C D '

. Which one of the shieets would cast the darkest shadow when light is sh_ons onit? o

S 1).A
B
3) C
4D




27. Which one of the following pairs of items allows only some light to pass through
them?
| 1) Car tyre and frosted glass
2) - Tracing paper and whiteboard
3) Clear plastic and tracing '_paper
4) " Frosted glass and tracing papef

~

28. Which one of the followmg graphs shows the length of the shadow cast by a flag

pole from 8 a.m. to 6 p.m. on a certain sunny day?

) : : . @
A A
Length of Length of |
: shadow - shadow
- {m) (m)
} t t »Time f—t—F——+Time
‘8am 12 noon 6pm - 8am 12noon 6pm
@) S @)
A - Fy
Length of - Léngth of
-shadow shadow
(m) (m) -
! — >Time — l »Time
- 8am 12 noon 6pm ' 8am 12 noon 6pm

.15



- .29, Which property of l'i;ght causes shadows to be formed?
(1) Light can be reflected.
(2) - Lightis aform of energy.
_ (3) Light travels in a straight line.
(4) Light enables us to see things.

b

30.  The experiment shown below was carried outin a dark room. Shéet X, Yand Z are
arranged in a straight line. When a torch is shone at the hole, a bright triangular
patch of light is seen on sheetZ only.

. hole

torch sheet X sheetY  sheetZ
Whibh.one of the following I'isfs shoWs'_tHe-co‘rf:;ect-‘mafeﬁa'li used forvshe'ét X., Yand Z

 respectively?

Sheet Y -~

wood

~SheetX

_ SheetZ
(1') - _ . styrofoam

clear glass

@)

wood

“clear glass

B cardboard -

@

styrofoam .

wood

@]

“cardboard

- wood -

~cléariglass -

e END OF SECTION Am~s .
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Section B: 40 matk

For questi'ons 31 to 44, write your answers in this booklet.

j¢ The number of marks available is shown m the brackets [ - ] at the end of each.
questuon or part questlon ‘

-

31. The pictures below show a frég and a cockroach.

cockroach
" a) What are‘the-g'(oung of these animals called? [1]

(i) Youngefa frog

(u) Young.of a cockroach : _ |

“b). State two dlfferences between the young of the frog and the cockroach. 2]

(Do not compare the size, shape colour food: and habitat. )

QM

i)




32. The statements below describé the 4 different stages in thie ife cycle of an animal.
Stage A : Emerges with wings o '
Stage B : Eats the leaves around it
Stege C: Attaches on the underside of ieaves in great numbers

Stag'e B: .A_ttache‘s.upsude down on a twig without any visible activity

a) Based on the statements above, write letters A, B, Cand D, to complefe the life

‘cycle c_;f tls'e an_imal belew._ : . 2]
| Stage
S'tege _____ | | Stage____ | . --
| /\ .‘S__tage____
b) '. Name the animal wh_bse life cycle has been' described abeve. - V['ﬂ o

33.. -State whether each of the followmg statements is true (M), false (F)or not gossmle
 to tell (NP): Wnte your answers in the boxes prowded . - (4]

1a) Insects may have a three-stage or a four_—stage life cycle. |

1b) {Some living -things_ look: very similar at various stages in theic 1

life cycle...

6) Al anlmals have the same Ilfe span

d) .| Organism-X has-a 3—stege life- cycle, therefore, it is & mammal.




34.  Study the classification chart below carefully.

Animals
" Give birth to young alive - Lay eggs )
Al .
_ 3-stage life cycle - 4—5iage life cycle-
a) List the characterisfics of animal C.. (1]
b) What is the difference.in the life cycle between animai' AandB? -~ [1].

PR ——




' 35 - Ting Ting ._t_ook- an -em_pty plastic cup, inverted it and pushed it into. a basin of water
"as shown in diagrarh A. She thén used a pin to pierce a hole at the side of the cup
as shown irt the diagram B below. -

. hole

inverted
N\ plastic cup

diagram A | , diagram B

a) Explain why the water in the basin did not fill the inverted plastic cub in
diagramA. R - 21

‘b) What would Ting Ting observe after shé had pierced the hole in the plastlc
cup in dlagram B’? : : S : [2]




36. jn a\r\ experiment, Kelly covered the tip of an empty syringe with her finger an.d: tried
to push the plunger. '

a)’ Describe-what Kelly will observe about the plunger. 11-
© b) What does this experiment show about the propetty of air? - M
c) State one sirhilarity in property between a liquid ‘and é gas. - - ,[1']..




‘ 37. ‘T.he ta-ble'below shows the properties of 4'tl-ifferent items.

Item Occupies.s'pace? d Has a Can be
: : - - definite shape? compressed?
' P‘ ‘ Yes_ ' ' .‘ No ’ . Yes
Q- No : No : © o No
R Yes " Yes o No )
- S Yes | No ' - No.

* Answer the following questions based on thé information. given above. Write vour -

answers, P, Q, R or S, in the space provided. - I3]

a) | Which item could be a liquid?

| b) | Name the item that is-not a matter.

Tey . Name one item that could be a soiid. _




'38.  The box below shows 4 different objects.

Mirror Sieel ruler

Tapwater ~  Frosted glass-

-7

. ay ‘Cl‘assify.the‘_obj,ects listed in the box above info the correct groups, A,BandC,

‘in the clas_siﬁcatioﬁ chart below. . 3 . [21

Objects
R i-
l | | 1

Group A 4 "Group B8 - | Graup C
| eg. Tracing paper | { eg. Clear glass " eg. Woad -
b) Give suitable headingé for Group A gn‘d‘ C: ) | - {2

T (i) Group’A‘

iy GroupC




. 39. " Mike tried to ook at‘.-a candle. flame using a flexible rubber hose as shown in the

diagrami below.

rubber hose

| candie  Mike

_a) ‘Mike discovered that he was not able to.see the candle flame. éxp_‘lain why. [1] .

b) Wlthout changing the object or adding other materials to the rubber hose, what
could Mike do to his rubber hose so. that he would be able to see the candfe -
flame? R 1 ; - N




. 40: Mary placed an apple in front of the wall of her bedroom. She shone a torch orni the

appleto create shadows of dlfferent sizes on the wall.

Torch

Wall
List 2 ways to-show how dessIg can create a bigger shadow on the wall. - {21
(M
(i)

4. The d(agram below shows the posltlons of the Sun the Earth and the Moon The
' cross X on, the Earth: represents a person ' '

Earth

: Moon. "~ - 7L

. Draw arrows to show the path of tlght that allow us to see the moon although lt is. . )
: not a Ilght source ' . R L -




42 Jonathan carﬁed out an experiment using a magnet and three metal bars, S, T and

U. He recorded his observations in the table below.

Metal Bar Ohservations
~s The bar is not atiracted to or repelled by the .magnet. :
T é’oth ends 6f the bar are éﬁracted to the magnet. .
u T-hé _mag_ne"c attr.acts-éne end. of -t_ﬁe bar but repel'*the othér end.

. Based on the observatioris, identify the type of metal bar; S, T'and U, by writing the

letters in the space pr‘civided-.

A magnet

A magnetic object

A non—magneiicbbject :




. 43.  Shafik setup an experiment.as shown below to find out the effect of magnetic

force pas'si'ng thrbugh difierent materials.

T — R

-

_ bar mggnet.l string

paper clip

l_
L

thin cardboard 'scrgeﬁ

retort stand

a) What will happen to the paper clip when the bar"magnet' is brought close to the -

thin cardboard screen-as shown in the diagram above? _ [1] -

b) In _the.next‘s.et-lup,.Shdﬁk repiacé's the cardboard screen’ with an {ron screen. .

Explain what will happen to the paper clip. o L N




44.

Samy’s teacher challénged: him to remove'a paper clip ott of his shirt pocket

“without touching it with his hands. However, Samy may use any of the following

items that were given to him: ' ' ;

e Abarmagnet
e A handkerchief

e - A compass

a) Which itern should Samy use? - - M

i

b) Describe what he would do to accomblish tﬁ‘e task. . 21

. | ~nem End-of Papeér ~~~e
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Q1[Q2 Q3| Q41 Q5

. Q31ai)tadpole

it)nymph

bi)The nymph represents its parent but the tadpole does not resemble its parent.

ii)The nymph moults but the tadpole does not moulit.

Q32a)

AR
A B
TUpe
b)Butterfly
{Q33a)True
b)True
c)False
d)False

Q34a)Animal C lay eggs and has a 4-stage life cycle.
b)Animal A gives birth to its young alive but Animal B lays eggs.

Q35a)Air inside the plastic cup occupies space and it prevented the water from

entering the plastic cup.

b)Air in the plastic cup would escape through the hole as air bubbles and water

would enter the plastic cup to fill the space up to the hole.

Q6 | Q7 | Q8 | Q9 {0101Q111012;0131Q14{Q15} Q16 | Q17

3 3 4 4 3 1 3 1 3 2 41 3 41 1 2 1 1
Q181019 1Q20 Q21 | Q22 1Q2310Q24 | Q25| Q26 | Q27| Q28 | Q29 | Q30
P 1 3 2 31 21 4 3] 2 3 4 4 3 2




Q36a)The plunger will be able to move a little distance into the syringe.
b)Air can be compressed.

¢)Both of them do not have a definite shape.

Q37a)s
b)Q
R
Q38a)
Qtjacls
| . |
! i 3 1
Group A GroupB * . GroupC
1 1 ! |
l eg. Tracing paper eg. Clear glass eg. Wood

] Frosted o Top_wiater, __Mirrge
: Steelvulor

Bi)Translucent things
ii)Opaque things

Q39a)Light travels in a straight line but the rubber hose is bent.
b)Mike could stretch the rubber hose until it is straight.

Q40i)Move the fight source nearer to the object.
ii)Move the object nearer to the light source.

Q42)A magnet: U
A magnetic object: T
A non-magnetic object: S

Q43a)The paper clip will be attracted by the bar magnet.

b)The paper clip will not move, because the magnetic force cannot pass through
the iron screen.

Q44a)A bar magnet.

b)Sammy would first bring the magnet close to his shirt pocket until it is able to

attract the paper clip. Then he would move the magnet slowly up his shirt pocket
until the paper clip comes out.




